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SA - BB B () - MM - BES Ol &t o San HmEET
AR =S 846,934 815,798 31,136
SHIARILXR (XAS) 322,663 306,739 15,924
SHE2ILAA 322,663 306,739 15,924
dE2E & XA 260,072 254,357 5,715
201 L2l 71,082 66,867 4,215
01 At 22l 37,360 33,900 3,460
0 get=2Hl 29,360
O s 22 =2S=8Hl 4,920,000& * 14 4,920
O gas X 2=s2(g¢, =, 82X)
15,000& = 83 » 12& 1,440
O &N #& 30,000& = 48 = 43| 480
O @At EHIS 60,000& = 3& = 23] 360
O 3o M5 wel 50,000& * 2& 23] 200
O dFMRESZ 7Y
80,0008 = 5& = 122/ 4,800
O HIAMRININ 228 7Y
400,000 = 8CH = 33l 9,600
O HFIMRII 272 =484
200,000&  5CH = 33 3,000
O SOUAHANAHRREY 242
250,000 * 123 3,000
O BEa&4 APE P (U, &)
130,000& * 123 1,560
0 28+ 8,000
O FUHHRA ZAZE  8,000,000& * 14 8,000
02 232gl 33,722 32,967 755
03322 2 dA 33,722
O sE= 2,130& = 3704 = 12& 9,458
O UHUSIHAAMEZ(NISEEEHIHH)
121,000& * 12& 1,452
O &Jlz 17,400
A 1,450,000& * 128 17,400
O &ot=&= 300,000& = 12& 3,600
O sedgs= 5,500& = 208 « 12& 132
oOd-2+J € HlUl &=5=2
20,000& = 58 « 12& 1,200
O S8 M 2AI3t0e gz
40,000& = 12& 480
202 O4dl 40,380 40,380 0
01 = LH o4 1l 40,380 40,380 0
O 2ol 200,000& = 159 « 128 36,000
O 22yl 80,000& = 3% = 123/ 2,880
O desgXegs 20,000& = 15 » 53 1,500
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05 & -0 - EBHEESENS 130,610 130,610 0
O s 121,360
O =< 200,000 = 378 » 123 88,800
O &0z 200,000& = 37 * 23| 14,800
O 292 20,0003 = 37 = 23] » 128 17,760
O graEag 25,0003 = 185% =« 23| 9,250
09 HALAHIE& S 13,000 13,000 0
[ S2E =23 g2y
10,000& = 130 = 103l 13,000
405 RHoHF S HI 5,000 3,500 1,500
01 et EZFH S 5,000 3,500 1,500
O MRaAEI 7L 3,000,000 = 14l 3,000
0oz ggH ¢ 2,000,000& * 124 2,000
A Y AIE FH 57X B+ 62,591 52,382 10,209
101 @14 Hl 36,713 34,104 2,609
04 JIZHZ2XNHEE S 36,713 34,104 2,609
O A 22l 212 6,000
O Jles 500,000& = 1H = 123 6,000
O EAM 8 8ZFH a2 6,000
O Jdles 500,000& = 1H = 123 6,000
04t 28 1,737
O L= RFE=
12,000,000 = 3.23/100 388
O Loy eAEE= 2=
388,000& * 7.38/100 29
O =poaPEz 2g3
12,000,000 * 5.50/100 660
O nNg8s 243
12,000,000 = 1.50/100 180
O EEE 23
12,000,000% = 4.00/100 480
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O &AM 2,500& = 1,087m 2,718
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O ¢$5&X 60,000 =* 43| 240
O 02l 30,000& = 200 = 23] 120
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O &g=x 150,000& * 13 150
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300,000& * 1CH ~ 12& 3,600
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=2 500,000& = 23| 1,000
O xhgk - &ty 7,000
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St= Xt 3,000,000& * 1CH 3,000
FSDIDNE=PN; 4,000,000& * 1CH 4,000
206 M = Hl 9,485 ,885 3,600
01 M= bl 9,485 ,885 3,600
0O g9 K30 3,485
O s 1,500& * 8504 1,275
O 3% 1,300& = 1,700¢ 2,210
0 J1eb Xk #¢ 60,000 * 10 = 103 6,000
Ol AF (RF &S ) 378,251 677 2,574
Wl ALY 378,251 677 2,574
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01 A& tI 300,000 300,000 0
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20,000,000& = 14 20,000
0 22s(178) 01 DHLR ZA
20,000,000& = 14 20,000
[0 ssg o2 g3t A
20,000,000& = 14 20,000
0 S8 22 Y2 M=AEZ2Y EXSA
20,000,000& * 14 20,000
O HUS(158) Y MFEAT2Y AXSA
20,000,000& = 14 20,000
O SUS(288) EHYE M=AS2YH HXSA
20,000,000& = 14 20,000
O guolga 5§ S8 M A
20,000,000& = 14 20,000
[ g93ti0ts =483 At 20,000,000& = 14 20,000
O dUs XeEE =8 Hat3 A
20,000,000& * 14l 20,000
[0 930l 2otUs 0/8E EX3A
20,000,000& =« 14l 20,000
O dUs 2R (EE) & otaz 2a o A
MRI| ZEIA 20,000,000 = 14l 20,000
[0 SU=S(308) OtAE BA L ZIEZA
20,000,000& * 14! 20,000
O 225(168) ZAHA SMIA
20,000,000& = 10024 20,000
[0 2LS(108) OtAZ BA L IEZA
20,000,000& =« 14 20,000
0O 2AS(78) =9 0tA2 24 L I
EZEISAM 20,000,000& * 14l 20,000
03 Al SR THHI 2,160 2,160 0
O AIE 20l 300,000,000 = 0.72/100 2,160
HY I ZH (AHaS) 146,020 133,382 12,638
el 2l 105,660 93,022 12,638
olE Y| (XHAHS) 105,660 93,022 12,638
101 124 dl 105,660 93,022 12,638
01 2= 105,660 93,022 12,638
O =2 fE 105,660
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11,7403 = 15% = 50AI2t = 128 105,660
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0O =&l 10,800
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O dxt= 2,000
O #HALXE & THHEHI X =
2,000,000& = 14 2,000
202 04 HI 1,040 1,040
01 = LHA YI 1,040 1,040
O HEE MM 04 bl
80,000& 133 1,040
203 PR =&l 10,200 10,200
01 J22F P2 =8| 6,600 6,600
O Xtz 550,000& » 12& 6,600
02 At = &H| 600 600
O HSJAAD| & E 40,0003 = 159 600
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